NEGATIVE CROSS SECTIONS

HEE SOK CHUNG

NEGATIVE P-WAVE PRODUCTION RATE AT LARGE Py

» Problem : cross section turns negative at large pr. This gets more severe
at larger rapidity. = xedt X y=20 +s=13TeV
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» P-wave cross section is the remnant of the cancellation.
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» Cancellation occurs order by order, so there's always leftover pieces :
e.g. NLO piece of 35,1l

» Remnant of cancellation very sensitive to behavior at z=1 :

cross section will depend strongly on z—1 behavior of o,
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» P-wave cross section is the remnant of the cancellation.
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» 3P, 8l falls off slower than 3S4[8], the sum turns negative at large pr
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» Same issue with S-wave production in the 35;[8 + 3P/8l dominance case.

Situation similar to P-wave : ———(0V (358 =
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